= o
N £ 0 & 2 E M A
20169 = S0l& LB A JIEISESIH, SILSESH &l
SH: 430
M QAR AN (M2Y)
Sl RIAZA Y PR AW (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
M 549,898 529, 166 20,732
QIR ESAH(M=E) 241,404 218,680 22,724
DASA & 2H=ER X 241,404 218,680 22,724
=S HFMHA 13,824 14,824 A 1,000
201 L2l 1,720 1,720 0
01 At 22l 1,120 1,120 0
O34 HM=&tl 30,000& = 123 360
OBSEHIX ¥ MEME= S2S4HI
7,000& * 4% + 203 560
OHSEIX A28 7¢ 2 =cldl
200,000 200
02 =224l 600 600 0
OMI=EXNELESRH BEHEE 23
50,0003 = 1CH =128 600
202 O4dl 7,200 7,200 0
01 = LH 4 Hi 7,200 7,200 0
OdHFHR =& NI 4,800,000& 4,800
O F=Ho 2,400,000 2,400
301 LeEHS 4,424 4,424 0
09 &AL HI B &S 4,424 4,424 0
OHelZ#Z&s &JHA sS4l
7,0002 * 36% * 12& 3,024
Os&ELeEsIl EJtA sS4l
7,000& * 509 x 43 1,400
307 21201 A 480 1,480 A 1,000
01 92724l 480 1,480 A 1,000
ORgeEs S&dl & OHl 40,0008 = 128 480
FOXXHH 2HXE 24,252 22,452 1,800
201 Let249] 21,552 19,752 1,800
01 At 22l 20,652 18,852 1,800
OFQXXIHEH et
1,035,000& * 4&7| 4,140
OFLURXAE & =& 11,760
-&J|3 30,0003 * 28H = 12& 10,080
-2 A3 30,0003 = 28H =« 23| 1,680
O M= MEE 7,000% * 3 = 12& 252
OoxszdHEs XA 500,000& = 9K 4,500
02 =224l 900 900 0
OFQTXEH HASEHE FXES=Hl
900,000& * 1JH 2 900
301 L2 A= 2,700 2,700 0
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SN M
M QAR AN (M2Y)
Sl RIAZA Y PR AW (B9 ®R)
5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
09 HALAHIEA S 2,700 2,700 0
OXMZH FUXXHUE &S WFH
2,700,000& 2,700
sclgtEEs A& 95,090 95,090 0
301 et d=s 95,090 95,090 0
05 S& -0 -EtEEs2E 95,090 95,090 0
oo+ 91,840
Il 200,000& = 28H » 123 67,200
-&03 200,000 = 28Y « 23] 11,200
-3 o & A4
20,0003 = 289 = 23| » 12& 13,440
OFIPSEpa =, 50,0008 = 65%& = 12l 3,250
AsgE XA 10,180 8,820 1,360
301 et a3z 10,180 8,820 1,360
04 A2 LHUHAHXA 10,180 8,820 1,360
OXNsSgdHUHA 2 10,180
-0F A H 3,000% = 4H » 1JHOH » 365 4,380
-2 & thghy] 150,000& = 1OHCH = 12& 1,800
-X+& K Xl 4,000,000& * 1JHCH 4,000
SSAE |2 98,058 77,494 20,564
101 124 dl 5,838 5,403 435
04 JIZHHZ2XREES 5,838 5,403 435
OAIIXIEHl & S A2 AFY 5,838
=0 48,240 * 18 * 110€ 5,307
-ALRIE™ DR E 3 5,307,000& = 10% 531
201 2et2 Y| 76,320 61,491 14,829
01 At 22l 2,700 968 1,732
O&AN & FUXXHEH I 2l
25,000& = 404 = 128 1,200
OFJIctE e e+ (HBA,FUXILAH)
250,000& * 20 A 500
OAHEAEY NS (HBA, FUXNIILH)
500,000& * 204 1,000
02 2324l 73,620 60,523 13,097
OBM 32223 & MA 24,360
NI 2 =ER3 1,500,000& * 12& 18,000
-HAHS & FAXR = 50,000& = 123 600
-UsStlss ¥ 3ES 22
400,000& = 123 4,800
—ESINERES 80,000& * 23 160
-SEgS A8 25,0008 * 123 300
—EARE =B 250,000 » 201 A& 500
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SA M3
HE: QIABAH(MEH)
CHel: QIRAZAL Y FMEX K (el &)
£AH -3 -H2A(3AH) - AH2AY -BHES Off &4 %Ei Hwsz
OFUXNIHEH 2522 < HAl 9,760
ol = = = 750,0008 * 122 9,000
-QIEY R 30,0008 = 128 360
-SAYsea 20,0008 * 12% 240
AN 2EE 80,0008 * 23 160
O¢lzH 16,800
—“HAb U 2Hl 20,0009 * 8AIZH « 1052 16,800
OA&ZH S22/ 19,600
-A282XHl(1,458m) 3,000,000¢ 3,000
-HASZEE 50,0008 * 2700 A * 43 5,400
-2HNS I el 6,000
Z2RXHI(BEFA Ha TE)
2,000,0002! 2,000
A2 SXE S 4,000,000¢ 4,000
“EA U SAUBH(BAEE)
1,800,000 1,800
-HIASAE 400,00080 = 10§ 400
-HAEH X 500,000 * BCH 3,000
OXF2f & 8| 3,100
-AEE2 3,000,0008 = 1CH 3,000
XA AELE 50,0002 * 1CH * 23 100
307 2I2H0I & 5,400 4,800 600
05 D12t QI E 3 5,400 4,800 600
ORUBHANA (HAL FUXXHE)
450,0008 * 128 5,400
401 Al HI 2 2O 8,000 0 8,000
01 Al & H 8,000 0 8,000
OZ0fQl EC 22 WH BA 2,000,0002! 2,000
OlbIZ S8 3FA 243 A
3,000,0002! 3,000
OFLUXIME 35 2242 SRIA
3,000,0009 * 14| 3,000
405 KtatE SH 2,500 5,800 3,300
01 AL S EF SHI 2,500 5,800 A3,300
OFAb HEIZ wXH 2,500,0008 = 14| 2,500
SHARDAILZA (M=) 202,400 186,292 16,108
ARQAIYFEX 202,400 186,292 16,108
DIRGHZE L ARD2AY 193,900 178,792 15,108
401 AlEHI 22 HH| 193,900 178,792 15,108
01 Al&H 180,000 165,000 15,000
Ox=el s2 2 H+2FHIS A
15,000,000 15,000
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2N
X ZH -
L= B

el

i
H A 7 2 AL
TE2AMEF

SN BA(SA) - MRAY - BES il HImEET
Ozd4el =2 & =2 FHHISA
30,000,000& 30,000
O&s=12l s2EZESAM 30,000, 000& 30,000
OS8d NLHZ HX S A 50,000,000& 50,000
OFQE2Y U 51&EH MEX(14)
5,000,000& 5,000
OE2 8 NE |XE=H 50,000,000& 50,000
03 A& =2 THHI 13,900 13,792 108
OATRR FoUS@AY ZXL Y|
125,000,000& * 0.72% 900
Otz % st&&Edl EHldxt= 10,000,000 10,000
OM4&ZEH Xtz 3,000,000& 3,000
ZZLXHAMS 8,500 7,500 1,000
206 M= Hl 6,000 6,000 0
01 T2l 6,000 6,000 0
OZLAXS ME 6,000,000 6,000
401 AIEHI L 2 CHYI 2,500 1,500 1,000
03 Al2 S THHI 2,500 1,500 1,000
OZZx4d FHgx= 2,500,000& 2,500
BHSAAY (H2W) 106,094 124,194 £18,100
2 (4=9) 106,094 124,194 A 18,100
Jl2ztl 106,094 124,194 218,100
201 YEt2 | 51,154 52,394 A1,240
01 At 22l 39,590 40,440 A 850
Ogt=&H| 5,300,000 5,300
o=l 4,230,000& 4,230
Oog - =x=¢ 18,060, 000& 18,060
OHEHH 22 24| 9,120
-2 Zel Il 3,000
- EY 300,000& = 1CH * 45 = 23| 2,400
- &4 300,000& = 104 = 23l 600
- BT ElE 0| 200,000& = 1208 = 23l 4,800
“SA(EW 2 Ed9)
200,000& = 1CH = 33l 600
—-FAX 120,000&  2CH = 33l 720
O=SAI Xtz 200,000& = 104 ~ 12& 2,400
O&F=J| gtz 40,000 * 1CH = 128 480
02 =524l 11,564 11,954 A 390
03323 ¢ MA(2ERERI)
8,800,000& 8,800
OdHZFZH KRAE=Hl 2,764
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Y EREL
B WEe Y (M30)
el J=23H(M3¢) fEH)
S B G(SA) - NRANY - BES il 2
-CHIIs AR 121 1,300,000 = 16CH * 5% ,040
-ZEHII 4,000,000& = 10CH * 2% 800
-= AtJ| 15,000,000 = 3CH * 2% 900
—-FAX 600,000& = 200 = 2% 24
202 04l ,500 34,560 5,940
02 M0 ,500 34,560 5,940
O HNH 225,000& = 159 = 12& ,500
203 R =&t 11,440 11,440 0
01 J122E YR =2 ,600 6,600 0
og¥ 550,000& * 12& ,600
02 33 H 2= 640 640 0
OFSE-- DN WIRSESEENa] 40,0003 = 164 640
04 FN2ELRZ=TH| 4,200 4,200 0
ORAM2IYRFLH] 350,000 * 123 4,200
405 TtakF S| 3,000 25,800 A 22,800
01 AL EFH S 3,000 25,800 222,800
OUIISARII =X A ¢
1,000,000 = 1CH 1,000
Od&ZD 2 500,000& =+ 1CH 500
OFAL g4 Hid 7€ 500,000& = 204 1,000
o&czZIl J1H 2¢ 500,000& =+ 1CH 500
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